H £ 0l & AF & S

Al A

02435 =& 1 2| LEteH 0= X
A ZOH=X
i Mo =sXsd
=2 Hofel =Xsd (SH &)
SA B O9I(SH) - MRALY - BAS o v o ® o RS2
OIS Xt 327,042,654 293,815,203 33,227,451
= 252,978,600 222,125,7% 30,852,844
== 69,064,054 66,689,447 2,374,607
2 5,000,000 5,000,000 0
Fofel SXsd 326,972,569 293,757,163 33,215,406
= 252,978,600 222,125,756 30,852,844
= 68,993,969 66,631,407 2,362,562
2 5,000,000 5,000,000 0
el =Xsd 67,990,355 68,175,838 185,483
= 55,214,205 55,381,710 167,505
S 12,776,150 12,794,128 A17,978
= 20 Xs 51,535,384 51,084,166 451,218
= 45,604,264 45,255,391 408,873
< 5,871,120 5,828,775 42,345
308 AXIHMSOIA 51,535,384 51,084,166 451,218
= 45,664,264 45,255,391 408,873
= 5,871,120 5,828,775 42,345
01 XN EELS 51,535,384 51,084, 166 451,218
Oz 51,535,384 51,084, 166 451,218
= 45,664,264 45,255,391 408,873
S 5,871,120 5,828,775 42,345
o= (0lx) X2 8,269,089 8,418,831 A149,742
= 6,360,838 6,476,024 A115,186
S 1,908,251 1,942,807 A34,55
308 XXIHMSOIA 8,269,089 8,418,831 A149,742
= 6,360,838 6,476,024 A115,186
= 1,908,251 1,942,807 A34,55
01 MK N ELS 8,269,089 8,418,831 A149,742
OFOM=Z(I=x) 8,269,089 8,418,831 A149,742
= 6,360,838 6,476,024 115,186
== 1,908,251 1,942,807 A34,556
o= (Xtael S) X2 3,845,175 4,459,600 N614,425
= 2,957,827 3,430,461 NAT72,634
S 887,348 1,029,139 A141,791
308 XXM SOOI 3,845,175 4,459,600 A614,425
= 2,957,827 3,430,461 NA72,634
< 887,348 1,029,139 A141,791
01 HRESHHBAEES 3,845,175 4,459,600 N\614,425
O M= (Xtae S) 3,845,175 4,459,600 N614,425
= 2,957,827 3,430,461 N472,634
< 887,348 1,029, 139 A141,791
Fojetgs X 808, 154 713,154 95,000
308 KEXIEHHMSOIS 196,500 156,500 40,000




2A:
X XH -
o e

=aak

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
01 HXSHH B E2ES 196,500 156,500 40,000
OAZHMIHH S SXAE XI& 126,500 101,500 25,000
OAlZ Z0He!l & AIESAEL S| XA 70,000 55,000 15,000
402 SI2ERHE0(1 M 109,554 94,554 15,000
01 QIR 2AIS 2R (RAMITHE) 109,554 94,554 15,000
O ZOHeIetH JIsEd 109,554 94,554 15,000
403 TS =01 152,000 112,000 40,000
01 XIS A =2 152,000 112,000 40,000
OAZEOCICH JISEZAS 152,000 112,000 40,000
HEZOoHR WNSXI 220,042 218,600 1,442
= 92,442 91,000 1,442
= 127,600 127,600 0
307 212+01™ 220,042 218,600 1,442
= 92,442 91,000 1,442
= 127,600 127,600 0
11 ARRIS XA E X 51,442 50,000 1,442
O EZH WSAIS (AFHI) 51,442 50,000 1,442
= 22,242 20,800 1,442
& 29,200 29,200 0
ZOHCIDIERIRA 262,350 256,326 6,024
307 212t01™ 262,350 256,326 6,024
10 MEISXAIEHE2EHIEX 223,350 217,326 6,024
OSHHMIIIEAZEEH =24 223,350 217,326 6,024
SSHHLSS A 25,000 0 25,000
= 10,000 0 10,000
< 15,000 0 15,000
307 212+01™ 25,000 0 25,000
= 10,000 0 10,000
== 15,000 0 15,000
11 ARIEXAIEE X 25,000 0 25,000
O=SHMsSSAHA 25,000 0 25,000
= 10,000 0 10,000
S 15,000 0 15,000
ol XX 180, 108,684 150,747,471 29,361,213
= 147,442,288 122,221,101 25,221,187
= 32,666,3% 28,526,370 4,140,026
O AHTHEALE 2S 2,679,400 2,481,284 198,116
308 XXIHMSO0IA 2,292,925 2,094,809 198,116
01 AXHHBaELS 2,292,925 2,094,809 198,116
OHMHAXHNEAIE 2HAA 2,186,101 1,989,569 196,532
OZMAXNATHEAE SSHMAES 27,936 27,360 576
OZ QA XLTHEAIE SAHG EAZAHI 48,888 47,880 1,008




SA EOjOI= XDt
M Fojol SXEX

oels ZoHe HEXR (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]

ZOHAMATHEAIL JIS2S 985,577 1,846,515 860,938

= 575,385 1,166,010 259,625

& 410,192 680,505 »270,313

403 MR HHMSAHE01H 985,577 1,846,515 860,938

= 575,385 1,166,010 A590,625

[ 410,192 680,505 »270,313

01 MXIHHA 22 985,577 1,846,515 860,938

OZ AR MHEAE JISES 863,077 1,749,015 /885,938

= 575,385 1,166,010 250,625

< 287,692 583,005 129,313

OFMIESEAE JIsE2(XHA) 122,500 97,500 25,000

ZOHQIMAZTHIHAIE XIR(Z) 39,265 14,265 25,000

303 a2 25,000 0 25,000

01 ZAZ 25,000 0 25,000

OSSHMAYLE SR =012 A&t 25,000 0 25,000

ol HEdE XA 569,880 566,580 3,300

403 AXIEHMSA=Z01d 3,300 0 3,300

01 MXIHHA 22X 3,300 0 3,300

O=tAIZQIX S S X JHE JIs22 3,300 0 3,300

ol #sSXE=0 X 117,881,709 90,372,961 27,508,748

= 104,452, 147 80,077,308 24,374,839

< 13,429,562 10,295,653 3,133,909

308 XXM SOIA 117,881,709 90,372,961 27,508,748

= 104,452,147 80,077,308 24,374,839

< 13,429,562 10,295,653 3,133,909

01 XN B2 LS 117,831,709 90,372,961 27,508,748

OZfe esXa=0 X 117,881,709 90,372,961 27,508,748

= 104,452,147 80,077,308 24,374,839

[ 13,429,562 10,295,653 3,133,909

LLTHEAMEIA HIRH XA 5,876,516 5,762,9% 113,520

= 5,207,040 5,106,452 100,588

< 669,476 656,544 12,932

308 XXM SOIA 5,876,516 5,762,9% 113,520

= 5,207,040 5,106,452 100,588

< 669,476 656,544 12,932

01 XN B2 LS 5,876,516 5,762,9% 113,520

O2LMEAHIA BIRX X 5,876,516 5,762,9% 113,520

= 5,207,040 5,106,452 100,583

[ 669,476 656,544 12,932

ZOHQ! LB (AIZMA) X2l K& 2,671,500 2,617,500 54,000

= 2,055,000 2,055,000 0

< 616,500 562,500 54,000




SH: HOjQI=X Dt
Ha: ZOHOl XS

oels ZoHe HEXR (=

S - BE - B9I(3H) - NRAY - BES 0] a0t ol H o CImE=E
308 REXISHMSOIH 2,671,500 2,617,500 54,000
= 2,055,000 2,055,000 0
= 616,500 562,500 54,000
01 AXIEHELAEXS 2,671,500 2,617,500 54,000
OXO0H! UBHSH(AIZEN) LAtel XA 2,671,500 2,617,500 54,000
= 2,055,000 2,055,000 0
& 616,500 562,500 54,000
ZESE L SSHSSMEIA RE 5,336,568 3,017,101 2,319,467
= 3,976,208 2,639,823 1,336,385
s 1,360,360 377,278 983,082
307 QI2HO| M 1,820,891 996,943 823,948
= 1,020,891 996,943 23,948
= 800,000 0 800,000
" ASI=SXAIEEE 1,820,891 996,943 823,948
Ozl=Z LEZel 24A12t == HE LY
2 XA 1,820,891 996,943 823,948
= 1,020,891 996,943 23,948
L= 800,000 0 800,000
308 AXIHMSO0I & 3,515,677 2,020,158 1,495,519
= 2,955,317 1,642,880 1,312,437
& 560,360 377,278 183,082
01 AXIEHBAEES 3,423,677 1,954,158 1,469,519
Oxl=Z LE =43 HE LU
XI& 1,063,824 1,041,144 22,680
= 818,317 800,880 17,437
= 245,507 240,264 5,243
OzI=s3 2ET F2Ues 05 LU
K2 (BRH™ 2,359,853 913,014 1,446,839
= 2,091,000 809,000 1,282,000
= 268,853 104,014 164,839
13 I 2SO E &R E AL I 92,000 66,000 26,000
OX=Z £Edel sgt==s 29XA(X
AHIEH 92,000 66,000 26,000
= 46,000 33,000 13,000
= 46,000 33,000 13,000
iR AlEESE 61,467,811 56,884,864 4,582,947
= 44,219,967 42,807,808 1,412,159
T 17,247,844 14,077,056 3,170,788
NI HFTAIE 2H(%) 52,465 11,000 41,465
201 L2 FH| 18,465 0 18,465
01 AFS2teltl 18,465 0 18,465
OlAEN MEXALR W=F X AL = 18,465 0 18,465
307 QI2HOl A 34,000 11,000 23,000
11 ASI S XA E X 34,000 11,000 23,000




2A:

ZoHeI= X

=

F: Zojol =XEA

el ZoHel AIEgES (Gt H2)

A -3 - GRA(3) - ARAY - BES Ofl &4 I8 [ ImE=r",
| OZoHFAI sOrSUIE 23,000 0 23,000
HOHAHFAIL 2 KB (A2, 29) 48,435,574 47,006,950 1,428,624
2 42,917,597 41,651,730 1,265,867
[ 5,517,977 5,365,220 162,757
308 XIXISHHISO0IH 48,435,574 47,006,950 1,428,624
2 42,917,597 41,651,730 1,265,867
= 5,517,977 5,365,220 162,757
01 MXISHHZHBES 48,435,574 47,008,950 1,428,624
OFOMLNFAL 2% XIJ 48,435,574 47,006,950 1,428,624
2 42,917,597 41,651,730 1,265,867
= 5,517,977 5,365,220 162,757
OHRIHFAIL 2% X2 (2E) 383,029 357,024 26,005
2 %,745 90,680 6,065
=3 286,284 266,344 19,940
307 2I2+0I A 383,029 357,024 26,005
2 %,745 90,680 6,065
=3 286,284 266,344 19,940
05 12k 3 383,029 357,024 26,005
OLNZONQIAE & 2 383,029 357,024 26,005
2 %,745 90,680 6,065
= 286,284 266,344 19,940
HOHQIHFAIL S X 1,167,221 922,710 244,511
308 XHXISHHISO0IH 1,167,221 92,710 244,511
01 MXSHI LTS 1,167,221 92,710 244,511

OFMWOIHFAIL SA 212t 2E2(0

y22+4) 577,563 412,058 165,505
OFOHIHFAIL 2SR (OHQ) 385,466 306,460 79,006
HOHOIHFAIL ZIIHED dg A 10,272 20,544 A10,272
2 7,704 15,408 AT7,704
= 2,568 5,136 ~2,568
308 XIXISHHISOIH 10,272 20,544 A10,272
2 7,704 15,408 AT,704
= 2,568 5,136 N2,568
01 MXSHI LTS 10,272 20,544 A10,272
OFMANFAIE BIIHFI| A 10,272 20,544 A10,272
= 7,704 15,408 NT,704
=3 2,568 5,136 N2,568
Jojel=x2 2% 5,853,160 3,605,321 2,247,839
307 2I2+0IA 4,736,952 3,495,321 1,241,631
05 I2HRIEH3 4,654,808 3,413,177 1,241,631
OZYHMA=N 2 2 4,298,167 3,061,923 1,206,244
OFOfOI=I2 S2UXZAL X2 130,600 125,213 5,387
308 XHXISHHISO0IH 200,000 0 200,000




2A:
X XH -
o e

=aak

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
01 HXSHH B E2ES 200,000 0 200,000
OAlZEeI=X2 JIs 43t Alg X 200,000 0 200,000
401 AlEHIZ S 0HBI 538,000 0 538,000
01 AlZHI 538,000 0 538,000
OFEAZEML=K2 =S Xd 538,000 0 538,000
402 BI2ERHE0(1 S 257,208 0 257,208
01 QIR 2AIS SR (RAMITHE) 257,208 0 257,208
OSHAMRZMUSS=EA2 JIsES 257,208 0 257,208
403 AXIEHHSAH=0lH 121,000 110,000 11,000
01 IR A =2 121,000 110,000 11,000
OAZE =X JIsE2 (=) 11,000 0 11,000
ZoHel &) - F=22S X 752,781 627,055 125,726
308 XXIHMSOIA 752,781 627,055 125,726
01 HHHBAEES 752,781 627,055 125,726
OFOe EDIEs X 177,278 101,625 75,653
OHOje =225 490,115 440,042 50,073
HOHINIEEE2S 915,670 846,000 69,670
307 212t01& 879,670 810,000 69,670
10 Al SXAEEHE2EHI2x 879,670 810,000 69,670
Osg=0SdH 2 471,670 432,000 39,670
OSHHUIMEOISKAEEH 22 408,000 378,000 30,000
ZOHAUAIE SAHL HRIMA 1,554,584 1,539,669 14,915
307 212+01™ 353,270 348,870 4,400
10 MEISXAAEHE2EHIE2X 353,270 348,870 4,400
OXOHRIAIE BAIL HRME(Z) 198,510 196,350 2,160
OZOIAIE SAK HUZAH|(E) 97,160 94,920 2,240
308 XtXIEMSO0IE 1,201,314 1,190,799 10,515
01 RSN EES 1,201,314 1,190,799 10,515
OZOHIAIE BAR MRME(AIZ) 667,340 659,987 7,353
OZOHIAIE BAHA HHZAH|(AIZ) 451,290 448,560 2,730
OZ ORI AL BALR HMA(AIZ) 82,684 82,252 432
el EAlE D18 OFA 51,000 30,000 21,000
308 AXIHMSO0IA 51,000 30,000 21,000
01 XN EES 51,000 30,000 21,000
OEAIE Ze Hatz K& 51,000 30,000 21,000
SAIE TUSXE AIHAS 858,712 491,400 367,312
= 521,625 378,000 143,625
== 337,087 113,400 223,687
307 212t01™ 516,000 0 516,000
= 258,000 0 258,000
< 258,000 0 258,000
11 ARRIS XA E X 516,000 0 516,000

»
|




2A:

ZoHeI= X

=

M O sSNSH

Rl iR AIEES EER=E)

SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
OZAIE X2 ABA(Z9) 516,000 0 516,000
= 258,000 0 258,000
& 258,000 0 258,000
308 XXM SOIA 342,712 491,400 148,688
= 263,625 378,000 A114,375
< 79,087 113,400 A34,313
01 XN EES 2,712 491,400 148,688
OEAIE XHEXIE AIBAY 32,712 491,400 148,688
= 263,625 378,000 A114,375
< 79,087 113,400 A34,313
ZOHRIAFAIE 10T AIEZE SEAME 29 6,152 0 6,152
= 4,306 0 4,306
(= 1,846 0 1,846
308 AHXIEMSOIE 6,152 0 6,152
= 4,306 0 4,306
< 1,846 0 1,846
01 AXHHNBHEES 6,152 0 6,152
OZOMAANFAIL I0TAIEZS SSAE2E 6,152 0 6,152
= 4,306 0 4,306
< 1,846 0 1,846
ZOHO! MHEXIA 17,405,719 17,948,990 ABA3,271
= 6,102, 140 1,715,137 4,387,003
< 6,303,579 11,233,853 A4,930,274
£ 5,000,000 5,000,000 0
ZOHelo| 2 H| 1,879,863 1,424,615 455,248
= 1,599,883 1,212,438 387,445
< 279,980 212,177 67,803
308 XtXIEMSO0IH 1,879,863 1,424,615 455,248
= 1,599,883 1,212,438 387,445
< 279,980 212,177 67,803
01 XN BSELES 1,879,863 1,424,615 455,248
OZoferel =4l 1,879,863 1,424,615 455,248
= 1,599,883 1,212,438 387,445
[ 279,980 212,177 67,803
NASZOHQ! ZEH| L A XA 22,932 25,297 22,365
= 22,932 25,297 12,365
308 AXIMSOIA 22,932 25,297 12,365
= 22,932 25,297 12,365
01 AXHHBLELS 22,932 25,297 A2,365
OMASZEOS JH] L ZAHI 22,932 25,297 A2,365
= 22,932 25,297 12,365
SHEEL H2EA HE 14,000,000 15,000,000 1,000,000
= 4,000,000 0 4,000,000




SA EOjOI= XDt
HH: Fojol SXEX
CHol: FOYQ! THEXI

SN - BE - SRA(SIH) - NIRAY - B2 0 & ol & o
= 5,000,000 10,000,000
£ 5,000,000 5,000,000
402 QI2EXH=01 N 14,000,000 15,000,000
= 4,000,000 0
= 5,000,000 10,000,000
£ 5,000,000 5,000,000
02 QIR AL B (01 & THE) 14,000,000 15,000,000
Osd#Y Mg Hey 14,000,000 15,000,000
= 4,000,000 0
= 5,000,000 10,000,000
£ 5,000,000 5,000,000
NSGEeIEH = HEH 29 543,922 540,076
= 271,961 270,038
= 271,961 270,038
308 AHXIHMSOIH 543,922 540,076
= 271,961 270,038
= 271,961 270,038
13 I 2 S0IHeHE & H 2 A 543,922 540,076
OXIGECl BHAZHE 2 543,922 540,076
= 271,961 270,038
= 271,961 270,038
HRES(ZO0HI=XIL) 12,045 0
SN E(Z0HI =KDt 12,045 0
ZOHQI=SXI S NEXZ ez 12,045 0
802 Btz J|E 12,045 0
01 =2NEXxFLHEZ3 12,045 0
OHOUA=X20F 2 DNEXZ BHE=s 12,045 0




